Office of the State Comptroller

PAYROLL BULLETIN

Bulletin No.
Changes in New York State, P-516
City of New York and City of
Yonkers Withholding Tax Date
March 2@, 1987

Kew York State, City of New York and City of Yonkers withholding taxes
will change effective for Administration payroll checks dated April 1, 1987 and
Institution payroll checks dated April 9, 1987.

The changes include:

1. The deduction allowance table has been changed. The deduction
allowance for State and City of Yonkers is £115.40 for married
taxpayers and $76.90 for single taxpayers. The New York City
deduction amount for both married and single taxpayers is $96.20,

2. The exemption allowance table has been increased. The exemption
allowance is $34.60 per exemption for all State and City taxes.

3. The tax charts for New York State and the Citv of Yonkers has
also changed for married ard single employees. The new tax
tables reflect a decrease in tax rates. City of New York Recident
and Non-Resident and City of Yonkers non-resident tax tables have
not been changed.

Copies of pages from the revised Tax Booklet are attached.

The Tax Department has also issued new instructions on exemption
allowance certificates. The Internal Revenue Service may notify an emplover that
a federal Form W-4 for an employee is defective and has resulted in exemptions
being disallowed for withholding purposes. When this condition exists and the
employee has not filed New York State Form IT-2104, Employee's Withholding
Allowance Certificate, the employer is required to withhold New York State {and
City of New York and City of Yonkers tax if applicable) based on the number of
withholding allowances specified by the Internal Revenue Service in the written
notice (less any allowances for federal credits).

If an employee files Form IT-2104, Employee's Withholding Allowance
Certificate, and claims more than 14 allowances, the employer is required te send
a copy of the certificate to New York State Department of Taxation and Finance,
Income Tax Audit Administrator, Withholding Certificate Coordinator, Building 9,
W.A. Harriman Campus, Albany, WNew York 12227-0125.

The State Tax Department will notify the emplover whether to withhold

based on a lesser number of allowarces or withhold based on the certificate as
filed.

Questions concerning this Bulletin should be directed to the Planning
Office at (518) 474-1246.

Attachments
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NEW YORK STATE, CITY OF NEW YORK and CITY OF YONKERS

SPECIAL TABLES FOR DEDUCTION AND EXEMPTION ALLOWANCES

Applicable to Method |}

" for New Yark State, see pages 15- 16
for City of New York, see page 26

for the City of Yonkers, see pages 42 - 43

TABLE A Deduction Allowance Table

NEW YORK STATE AND CITY OF YONKERS

Payroll Period
Weekly Biweekly Semimonthly Monthly Daily Annual
Single $38.45 $76.90 $83.35 $166.70 $ 7.70 $2,000.00
Married §7.70 115.40 125.00 250.00 11.65 3.000.00
NEW YORK CITY
Payroll Period
Weekly Biweekly Semimonthly Monthly Daily Annual
Mingle or $48.10 $96.20 $104.15 $208.30 $9.60 $2,500.00

TABLEB Exemption Allowance Table

Payroll Period

Weekly
Biweekly
Semimonthly
Monthly
Quarterly
Semiannual
Annual

Daily or miscellaneous

Amount of one exemption

Based on a full year exemption of $900

$ 17.30

34.60
37.50
75.00
226,00
450,00
900.00
3.45

TABLE C Adjustment For Difference Between Federal and State Exemption Allowances

For employers who elected to use the Federal exemption amounts in computing wages after exemptions, the following adjust-
ments carrects for the difference between Federal exemption of $1,900 and the State or City exemption of $200, according to
the particular payroll period,

Multiply the amount below for 1 exemption by the number of exemptions claimed. The product is to be added to the wages

after exemptions computed with the Federal exemption, to correct for the lower State or City exemption allowances.

Payroll

Period

Weekly
Biweekly
Semimonthly
Monthly
Quarterly
Semiannual
Annual

Daily or miscellaneous

Adjustment for each
Federal exemption

$ 19.25
38.50
41.65
83.30

250.00
500.00
1,000.00
3856

Muitiply the amount to the left
{for 1 exemption) by the number
of exemptions. Add the product
10 the Federally computed wages
after exemptions.
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EXACT CALCULATION METHOD
TABLE 11 E — DAILY PAYROLL

the wages (after deductlons and exemptions) which falls within a wage If Wages are The AMOUNT to be WITHHELD is the SUM of:
bracket and adding to this product the given accumuiated tax for all lower (atter deductions)
tax brackets. After subtracting thea amount of deductions (from Table A} and exemptions}| This
and the amount of exsamptions (from Table B) on page i4 one of the JAmount . Exconr of Waper
following tables Is used., depending on the applicable payroll perlod, Linel At (Butless | {tax- |PLUS| This OF ot lescctiit
No.|{ Least | than lower Percent v Thin amount
brackets!
TABLE Il A —WEEKLY PAYROLL Col. 1] Col.2 ! Col.3 Col. 4 Col. §
1t Wages are | The AMOUNT 10 be WITHHELD is the SUM of 15018400 |s.00 pLus| 2% lexcessover| s o
{after deduction 214001 11.50 = - - - S0
and exemptions)| This 3 |11.50 | 19.00 31 ’ 4% : 11.50
Amount Excess of Wagn 4 |18.00) 27.00 .62 " 5% - " 19.00
Line| At |Butiess [ lax- | PLUS| This OF nd sl 5 |27.00 [ 3880 | 1.00 w 6% o 2700
No.| Least | than lower Percent over thy smouni 6 3450 | 4250 1.46 o 7% - " 34.50
) brackets) 7 |42.50 54,00 2.00 i 8% " ” 42.50
Col. 1] Col.2 | Col.3 Col. 4 Col. 5 B [3400[andup | 282 | " 8% v 54.00
1|50} %19 $.00 [ PLUS 2% |EXCESS OVER $0
21 19 58 .38 ' 3% " ! 18
3 58 96 1.54 " 4% ’ " 58
4 96 135 3.08 ” 5% ” - 96
81135 173 5,00 " 6% " " 138
6173 | 212 7.31 " 7% " v 173 ANNUAL TAX RATE SCHEDULE
71212 269 10.00 " 8% " " 212 If ANNUAL i .
gf 269 |andup | 14.62 " a% " " 768 WAGES lefter The ANNUALIZED TAX is the SUM pf:
deductions and £ " ,
sxemptions) Epps e
Linet At (Butless | This PLUS This OF Annuatizec Pay
No.| Least | than JAmount Percent over thy Amount
Col. 1| Col.2 | Col. 3 Col. 4 Col. §
11% 0)81,000 $ .00|PLUS g;: EXCESS OVER 5 0
2 | 1,000] 3.000 20.06( * ' * 1,000
TABLE i B — BIWEEKLY PAYROLL 3 3000 5000 Bodol | am 3000
1($0(8%38 $ .00 | PLUS 2% |EXCESS OVER s p 4 | 5.000| 7,000 | 160.00| ** 5% '’ ' 5,000
2] 38 | 115 J7] 3% N 38 5 | 7,000/ 5,000 260.00] - 6% oo 7.000
3| 115 192 3.08 ' 4% ” ” 115 6 | 8,000( 11,000 | 380.00] " 7% T B 9,000
41 152 269 6.15 N 5% - N 192 7 11,000/ 14,000 | 520,00 B% ” - 11,000
5| 2680 348 10.00 - 6% " " 289 8 14,000 and up | 760.00| - g% ” - t4,000
6| 346 423 14.62 7% " " 346
71423 538 20.00 8% " b 423
816538 |andup ! 2923 9% " " 538
The steps In computing the amount of tax to be withhald are as follows:
Step (1) Determine the amount of deduction allowancs {from Table A,
On page 14},
[2) Muitiply the amount of one exemption (from Table B, on page
14) by the number of axemptions claimed.
(3} Aad the amount of deductions obtaslned in Step {1) to the
amount of exemptions obtalned In Step (2).
(4) Subtract the amount of deductions and exemptions obtained In
Step (3) from the amployee's gross wages.
TABLE {1 C — SEMIMONTHLY PAYROLL (5) USlﬂly the propcﬁ ubllodl;n ::u TJ'DI' u :-rleis (Iﬂlepandlng an the
particular payroll perio nd the applicabls line an which the
150|842 $ .00 | PLUS 2% |EXCESS OVER $ 0 wages after daductions and sxemptlons In Step {4} are located in
2 42 125 B3 " 3% e - 42 . columns 1 and 2. ot ] | s ' i
' 0 0 } Subtract the amou n Column § of this line from the amount
3 ;gg ggg g‘gg " g: . . ;gg of wages after deductions and axemptions In Step (4),
L {7) Muttiply the remainder obtained In Step {6) by the percentaga in
5| 292 375 10.83 * 6% " " 292 column 4 of this fine,
6| 376 458 15.83 " 7% " ' 375 (8) Add the product In Step (7) to the amount In column 3 af .he
T. 0 " 7] 458 applicable line. This Is the New York State tax 1o be withheld for
; ;gg ar?dsip §1 g‘-:, " g: " v 683 the particular payroll period,
EXAMPLE 1: (Weekly payroll}
Weekly gross pay of $200, Single, with 3 exemptions claimed:
(1} Deduction allowance (from Table A, page 14) = $358.45
{2} $17.30 (from Table B, page 14) x 3 = $51,90
{3) $3B.45 + $51.90 = £20.35
{4) $200—$90.35 = $109.65
(5} Line 4 of Table 11A Is applicable ($109.65 |s betwesn $96
and $135)
TABLE Ii D — MONTHLY PAYROLL {6) $109.65 — $96 = $13.65
11 0| $ 83 $ 00| PLUS| 2% IEXCESSOVER g0 (7) $13.65 x 5% (.05) = $.68
2| 8 250 167 3% N " 83 (8) .68 + $3.08 = $3.76 {New York State tax to be withheld)
87 ’ " - 250
3 3?? g;; 1233 v g:: " " 417 EXAMPLE 2: (Semimonthly payroll)
T ] T3 Semimonthly gross pay of $300, Single, with ) exemption claimed:
g ‘;’gg ;?g g:g:’; . g: N ?gg {1} Deduction allowance {fram Table A, page 14} = $83.35
. ™ . . {2) $37.50 (from Table B, page 14) x } = §37.50
7| 9171167 | 43.33 8% 97 {3) $83.35 + $37.50 = $120.85
81,167 |andup | 63.33] ~ 9% v 1,167 : 85 = )
' (4) $300--%120.85 = $179.15
(5) Line 3 of Table I11C is applicable {$179.15 is between
$125 and $208)
{(6) $179.15 — $125 = $54.15
{7) $54.15 x4% {.04) = $2.17
{(8) $2.17 + $3.33 = $5.50 (New Yark State tax to be withheld)
R i . - -
i A Es.g‘_" I .
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tne given accumulated tax for all iower
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EXACT CALCULATION METHOD
TABLE Il E — DAILY PAYROLL

If Wages are The AMOUNT to bs WITHHELD is tha SUM of:
(after deduction:
and exemptions)| This

A [
and the amount of exemptions {from Table B) on page 14 one of the Uhl‘ At |Butess '“?:::.M PLUS| This OF 1.';:',::.,33
o
following tables Is used, depending on the appiicable payroll period. No.| Lesst | then lower Parcent :u'-;ﬁ":-':::"
brackets)
TABLE il A —WEEKLY PAYROLL Col. 1| Col.2 | Col. 3 Col. 4 Col. §

If Wages sre The A to be WITHHELD is th : l|s 0|& 730(% .00 [PLUS 2% (mxczss oven $ -]
llﬂir:::lucﬂnr-. MOUNT to be WIT LD is the SUM of 2| 950 | 1900|" (18 = 3% " " 7.50
end exermnptions)| This 3{18.00 | 23.00] .50 " 4% ” o 19.00

moun: l!!eln‘nl Wcgon 4(23.00 | 27.00| .65 " 5% " " 23.00
Line| At |Butiess | (tax- |PLUS | This OF [ Seductions 5[27.00 | 3456] 85 | © w| © " 27.00
No.| Least | than |-towsr Percent ovar this smaunt 6]34.50 42.50| 131 " 7% i - 34.50
mckots) 7{42.80 | 54.00| 1.85 . v 8% " " 42.50
Cot. 1| Coi, 2 Col.3 Col. 4 Col. § 854,00 and u 2.77 9% 54.00
1] 30| 3% 38 § .00 | PLUS 2% | xacxss oven $0
2 38 96 Jr] " 3% n o 38
3 96 115 250 o 4% v 96
4| 118 135 3.27 " 5% ) 115
: lgg ;7; 4235 » 6% [T 135
) 1 .54 » 7% LIS 173 ANNUAL TAX RATE SCHEDULE
7| 212 269 23 ” 8% " " 212 T ANNUAL
8| 269 |andup | 13.88] o 9% " ow 269 WAGES fafter The ANNUALIZED TAX is the SUM of:
deguctions sna
anemprions) b‘:‘“‘.:';"”"
{1l
Linw At |Butless | This PLUS This OF Anrualized Pay
No.| Least | than [Amount Percent ever ths Amount
Col. 1| Col.2 | Col. 3 Col. 4 | Cal, §
1 ;ooo S;.OOD- :o'gg PLUS g: EXSESE GvER : -]
2 ,000 000 N .- h Q00
TABLE (1B - BIWEEKLY PAYROLL 31 5.5501 856+ 3000 L B 5555
1{ $0| 8 77 § .00 |PLUS 2% |wxexzss ovan $0 4} 6,000{ 7,000 | 170.00! * 5% |- “ " 6,000
2 77 192 . l54 ) ™ A% "o 77 5| 7,000| 9,000 220.00( " 6% " " 7,000
3| 192 231 S00] 4% woon 192 6] 9,000/ 11,000 [ 340.00; 7% ' s 8,000
4| 23 269 63541 " 5% oo 231 7[1,000] 14,000 | 480.00[ " 5% " " 11,000
51 269 346 8.46 | " 6% e 269 844,000 and up | 720.00f 9% n " 14,000
6| 3486 423 13.08 | ™ v 346
7| 423 | s52a& 18.46 | " &% o 423
8| 538 ) and up 27.69 " 9% "oow 538
The steps in computing tha amount of tax to be withheld are as follows:
Step (1) Dstermine the amount of deduction allowancs {from Tabls A,
“ on paga 14),
{2) Multiply the amount of one exemption (from Tabls B, on page
14} by the numbaer of axamptions claimed.
(3) Add the amocunt of deductions obtained In Step (1) to the
amount of eaxemptiaons obtained In Step (2).
{4) Subtract the amount of deductions and axemptions obtained In
@ Step (3) from the .tT':hr." Jross wages. o '
AB C — SEMI Y JUsing the praper table In the Table || serles (depending on the
L LEUI MONTHLY PA ROL-L- particular payrotl perlod), find the applicable line on which the
1] s 03 83 $ .00 |PLUS 2% |=xcmes ovan 50 wages after deductions and exemptions In Stap (4) are located In
2 83 208 1.67 " a% e 83 ’gelurnns lﬂ:nd 2. ' | . r—
5 T on (6) Subtragt the amount In column $ of this line from the amount
i ggg :gg ;;E :, ;: : ” ggg of wages after deductions and sxsmptions In Step (4).
L (7) Muitiply the remainder obtained in Step (6) by tha parcentage in
S 292 375 2.17 " 6% o 292 column 4 of this iine.
6] 375 458 14.17 " 7% roo" 375, [8) Add the product In Step {7) to the amount In column 2 of ths
71 asg 583 20.00 " % o 458 applicabla line. This Is the New York State tax to be withheld for
8| 583 [ andup | 30.00| * o% "o 583 tha particular payroli period,
EXAMPLE 1: {Weekly payroll)
Waeekly gross pay of $400, marrled with 2 exemptions claimed
{1} Deducticn allowance {from Table A, page 14) = $57.70
(2) $17.30 {from Table B, page 14) x 2 = $34.60
(3) $57.70 + $34.60 = $92.30
{4) 400 —$92.30 = §307.70
{S8) Llne B of Table i1A is applicable ($307.70 Is over $269)
TABLE 11 D — MONTHLY PAYROLL (6) $307.70 — $269 = $38.70
1] 3 0| s167 * 00| PLUS 2% .o (7) $38.70 x 9% (.09) = $3.48
» EXCESS OVER =
21 367 1 %437 et g il ter (8) $3.48 + $13.B5 = $17.33 (New York State tax to be withheld)
3| 417 500 10.83 " 4% voow 417 EXAMPLE 2: {Manthly payroll
: :‘:g ::: ::-;; : :: ::: Monthly gross pay of $1,100, married with 1 exemption clalmed
r .. .- ': . (1) Deduction allowance (from Table A, page 14) = $250.00
6| 750 | 517 28.33f = 7% ' 750 (2) $75 (from Table B, page 14) x 1 = $75.00
7| 917 | 1,167 40.00| " 3% "o 917 [3) $250 + $75,00 = $325,00
B |1167 {and up 60.00| % oo 1,167 {4) $1,100 — $325 = $775

(
{
(
(

5) Une 6 of Table |ID Is appticable ($775 is between $750 and $917)
6) $775 — %750 = $25 ’

7) %25 x 7% (.07) = $1.75

8) $1.75 + $28.33 = $30.08 (New York State tax to ba withheld)
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This method dupiicates the steps used In calculating the New York State

EXACT CALCULATION METHOD
TABLE | E — DAILY PAYROLL

tax, to which It then applles a 15% surcharge. This mathod Is based upon ] -
asppiying a given percentage to the portion of the wages (after deductions l.il:.:‘:l.eg::;:t';:m The AMOUNT to be WITHHELD is the SUM of:
and sxemptions) which falis within a wage brackat and adding to this and exemptions}| This
product the glven sccumutated tax for all lower tax brackets, After sub- mount Excens of Wegs
tracting the amount of deductlons (from Table A) and the amount of Linel At |[Buttess [ (tax- [PLUS| This OF fatrer deductions
sxemptions (from Tabie B) on page 14, ons of the following tadles is used, No.{Least | than lower Parcent and exsmpriont
dapanding on the applicabls payroll period, . brackets) aver this smaunt
TABLE |1 A = WEEKLY PAYROLL Col.1|Col.2 |Coi.3 | Col, 4 Col. §
s ) 1198 0]%4.00 | $.00 |PLUS] 2% |EXCESSOVER| - $ 0
o Wagas are 1T The AMOUNT 1 be WITHHELD is the SUM of: 2 | 400 1150 og | =~ e A
and exgmptions)] This 3 j11.50 | 18.00 A1 " 4% " it 11.50
D Amount EremotWen 4 1190012700 | B2 v | 5% | - - 19.00
Line] At [Butlem | {tx- | PLUS| This oF nd ompnone; B 127.00 | 34.50 100 | - 6% o 21.00
No.[Lesst | than | lower Percent tvar this smaunt 8 {3450 42.50 146 [ 7% . 34,50
: ) 7 (42508400 [ 200 ™ 8% S 42.50
Col. 1| Col.2 | Col. 3 Cot. 4 Cal. 5 8 [B400|andup | 292 | " 8% o 54.00
t|$0|$19 $ .00 |PLUS 2% |EXCESS OVER $0
2] 19| =8 a8 - 3% | < 19
:‘4 gg ’gg ;g; . ;: voor 58 ____ANNUAL TAX RATE SCHEDULE
51335 [ 173 ] 500 | = 6% T 13L5 e The ANNUALIZED TAX is the SUM of:
a8l 1? 21 B o 7% " ‘" 173 daductions snd g
AR T 212 |_sxsmptions) | anonat
y " L i Line At But less This ‘This Annughzad Pay
81269 |endup | 1462 I 259 No.| Least | than |amount|"RYS Percent aF over thi Amaunt
Caol.1 [ Col.2 [Col.3 |- Col. 4 Col. &
1 (% 0]%.,000]| $ .00/PLUS 2% | EXCESS OVER $ o
2 [ 1,000] 3000 2000] 3% . " 1,000
3 | 3,000; 5.000 Ba.oo 4% - * 3,000
4 | S000 7.000: 160.00] - 5% | " ' 5.000
I 5 | 7,000( 9,000 2B0.00] 6% b b 7.000
TABLE || B — BIWEEKLY PAYROLL 6 | o'000! 11000 | 38000 7% " - 9600
110 1538 | § gg PLUS| 2% |EXCESSOVER| § O 7 [11.000{ 14,000 | 520.00[ * % e T1.000
2) 38 | 118 . 3% 38 8 |14.000{ and up | 760.00{ * g% o 14,000
3| 118 192 3.08 " 4% - o 115
4] 192 269 516 - 5% " v 182
51 269 346 10.00 " 8% - " 269
65| 348 422 14.82 " 7% " " 46 The steps In computing the amount ot tax to be withheld are as follows:
71| 423 538 20.00 & 8% " " 423 Step (1) D-tormln: the amount of deduction allowance {from Tabls A,
e - " on page 14).
Bi538 landup | 2923 % 538 {2) Multiply the amount of one exemption (from Table B, on page
14) by the number of exemptlons claimed,
{3) Add the amount of deductlons obtained in Stap (1) to the
" amount of sxamptions obtained in Step (2},

(4} Subtract the amount of deductions and exemptions obtainsd in
Step {3) from the emplioyee's gross wages.

(5} Using the propar tabie in the Table I saries (depandlng on the
particutar payroll period), fing the applicabie line on which the
vulga: aftler d;d;ctlnns and exernptions in Stap (4) are Jocatad In
columns 1 and 2.

TABLE 11 C — SEMIMONTHLY PAYROL_’E (6) Subtract the amount in column S of this line from the amount
of wages after deductions and axemptions in Step (4),
1180|842 $.00 PI.‘pS 3‘ EX?'ES OYEH § ‘D {7) Muitiply the remainder obtained in Step (6) by the percentage In
2| 42 125 .83 % 2 column 4 of this line, :
i 128 208 333 - 4% ” " 125 {8) Add the product In Step {7} to the amount In column 3 of the
4| 208 292 6.87 - 5% - * 208 applicabie line,
51 202 375 1053 Y 5% ) m 292 (9) Multiply the sum in Step (B) by 15% (.15). The product Is ths Clty
6| 375 458 15.83 " 7% “ " 1715 of Yonkers tax to be withhela for the particular payroll periog.
7| 458 583 21.67 " 8% - - 458
8] 683 [andup | 3167 - 9% v s 583 EXAMPLE 1: (Weekly payroll)
Waekly gross pay of $200, Single, with 3 exemptions claimed:
(1) Deduction allowance {from Table A, page 14) = $38.45
(2) $17.30 from Table B, page 14) x 3 = $51.90
{3) $3B.45 + $51.90 = $90.35
{4) $200 — $90.35 = 8109.65
(5) Line4 of Table 11A is applicable ($109.65 Is between $96
and $135)
&) $109,65 — $96 = $13.65
YABLE It D — MONTHLY PAYROLL ) By
1($ 01% 83 | $.00|PLUS| 2% |EXCESSOVER $0 (B) $.68 + $3.08 = $3.76 (New York State tax to be withheld)
2 83 250 1.67 " 3% " - B3 (8) $3.76 x 15% (.18) = $.56 (Clty of Yonkers tax to be withheid)
3| 250 417 6.67 - 4% - " 250
4 417 583 13.33 - 5% " . 417 EXAMPLE 2: (Semimonthly payroll)
T o] B% ) T 583 Semimaonthly gross pay of $300, Singie, with 1 exemptlon claimed:
g ggg ;ﬁ 2}2; . % v 750 (1) Deduction allowance (from Table A, page 14) = $83.35
7| 9t7] 1,167 | 4333 * 8% B 917 (2) $37,50 {from Table B, page 14) x 1 = $37.50
1167 | and up 63.33 v 9% " " 1.167 (3) $B83.35 + $37.50 = $120.85
o LY . . {4) $300 — $120.85 = $179.15

(

(
{
(
{

5} Llne 3 of Table I1C is applicable ($179.15 is between
$125 and $208)
6) 3179.15 — $125 = $54.15
7} $54.15 x 4% (.04) = $2.17
8) $2.17 + $3.33 = $5.50 (New York State tax to be withheld)
9) $5.50 x 15% (.15} = $.83 {City of Yonkers tax to be withheidg}
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CITY OF YONKERS ©
. Method [1 MARRIED EXACT CALCULATION METHOD
i -
This method duplicates the steps used In calculating the New York State TABLEN E DAILY PAYROLL
) tax, to which Is then applled a 15% surchargs. It is based upon spplying If Wages sre The AMOUNT to be WITHHELD 15 the SUM of:
a glven percentage to the portion of the wages (after deductions and (after deductiony
axamptions) which falis within a3 wage bracket and agding to this proguct and exempriong)] This
the given accurnulated tax for all lower tax brackets. After subtracting lamount Encess ol W
the amount of deduction (from Table A) and the amount of sxemptions L A But | n P Thi Igtrer g.g.,g..?..:
{from Table B) on page 14, one of the following tables Is ussd, depand- ine| At utless | (tex- Lus his OF g exemprionst
ing on the applicable payroll pariod. No.|Lesst | than J:CW:.’“' Percent tver thin amount
TABLE Il A — WEEKLY PAYROLL Col. 1 | Col.2 | Cot. 3 Col. 4 Col. §
1 Wages are The AMOUNT to be WITHHELD i the $UM of ;. 1/ 0| $ 750|% .00 PLUS 2% |sxcans owen $ o
i (atter deductions 2| 7.50| 19.00| .15 " % " - 7.50
and exemiptions)| Thig 3|19.00 23.00 50 I 4% " " 19.00
Amount [E);;:e“dn:iv:ﬁg“ 4123.00 27.00 .63 - 5% " b 23.00
Line| At jButless | [wax- |PLUS | This OF e Lo % (27.00 | J4.50] .85 w % " O
. e . 27.00
. No.{Lesst | than | lower Percent 333 1:?::'51!;%’;? 6]34.50 | 4250| 1.31 " % " » 34-g°
| lbrackets) T|az.50 54.00! 1.85 " B% " " 42.50
Col.1| Col.2 | Col. 2 Col. 4 Cot. 5 8154.00 | and up| 2.77 " 9% " " 54.00
1] $0|s 38 $ .0O0|PLUS 2% |=ncess ovem $ 0
2 a8 56 77 " 3% “ " 38
3 96 115 2. " " -
l ol el B | ool o i o R4 ANNUAL TAX RATE SCHEDULE
| 5| 135 173 a.231 = % — 135 11 ANNUAL The ANNUALIZED TAX is the SUM of:
6] 172 | 21z 6.54] 7% . oow 173 ey
7| 212 | 269 5.23] = 8% = 712 axemptions) i
8] 269 janaup | 13.85{ =~ 9% nooe 269 Line{ At [Burless | This pLus] The oF Annualized Pay
No.| Least | than [Amount Percent Over tha Ampunt
Cot. 1] Col.2 | Col. 3 Coi. 4 Col. &
118 ol $2,000 $ .00(PLUS 2% |Excass ovER ‘s 4]
2| 2,000{ 5,000 "40.00 - 3% " " 2,000
al 5,000} 6,000 | 130.00| ™ 4% ™ " 5,000
4| 6,000| 7,000} 170.00 " 5% " ' 6,000
5| 7,000 5000} 220.00 " 6% " " 7,000
; TABLE i1 B — BIWEEKLY PAYROLL 6| 9;000] 11.000 | 340.00| * 7% - " 9,000
H 1| $0| 877 $ .00 |PLUS 2% |excess ovenm $0 711,000 14,000 | 480.00| ™ B% ol - 11.000
1 2 77 152 1.54 " 3% "o 77 8 [14,000| and up | 720.00] * 9% * " 14,000
a 192 23}) 5.00 " 4% R 192
4| 231 269 | .654| " 5 oo 231
5| 269 346 8.46 T 6% oo 2685
6| 346 423 13.08 | " 7% oo 346 The steps In computing the amount of tax to be withheld are as follows:
' 7| 423 538 18.46 - 8% [N 423 Step (1) Determine the amount of deauction atlowance {from Table A,
! 8| 538 { andup | 27.69{ * 9% noow 538 on page 14).
i (2) Muttiply the amount of one axemption (from Table 8, on page
H 14) by the number of examptions ctaimed.
} {3)Add the amount of deductions obtained In Step (1) to the
: amount of exemptions obtained In Step (2).

{4) Subtract the amount of deductions and exemptilons oblalned in
Step (2) from the employee's gross wages.

(5) Using the proper table in the Table 11 series (depending an the
particular payroll period), find the applicable line on which the
wages after deductions and exemptions in Step (4) are iocated in
columns 1 and 2,

TABLE |1 C — SEMIMONTHLY PAYROLL (6) Subtract the amount in column S of this line from the ameunt
of wagas after deductions and exemptions in Step (4).
; 3] $ 01583 | 3 .00PLUS| 2% |excassovan $ 0 Multiply th ina Ined in Step (6) by the percentage in
i 2) 83| 208 167 © 3% o 83 ”',¢:c:l‘|l1"tl1:’|‘|yll"nl.t'r:i'.:‘l'lm.eT SERRDES i SRSV Oy (Ae S i
' 3 208 250 5421 = 4% LU 208 (8) Add tha product in Step (7] to the amount In column 3 of the
) 4| 250 | 292 7.08| $% "o 250 applicable line, Step { 15% (.15). Th duct 15 th
X " oo e {2) Multiply the sum in Step {8) by .15). The product 15 the
% : §g§ ig: 12;; " ?: oo g?: ;:ltr\;oﬂor Yonkers tax to ba withheld for the particular payrol|
: 7| 458 | sas | 20.00] - a% o as5g )
t 8f 583 ) andup | 30.00| * 9% "o 583
EXAMPLE 1: {Weekly payrali)
Weekly gross pay of $400, married with 2 exemnptions claimed
(1) Deduction allowance {from Table A, page 14} = $57.70
{2) $17.30 {from Table B, page 14) x 2 = $34.60
[3). $57.70 + $34.60 = $92.30
(4} $400 — $92.30 = $307.70
(5) Llne B of Table 1A is appiicable ($307.70 Is over $269)
(6) $307.70 — $269 = $348.70
TABLE Il D — MONTHLY PAYROLL (7) $38.70 x 9% (.09) = $3.48
(8] $3.48 + $13.85 = $17.33 (New York State tax to be with!‘leld)
3] 367 | %3 | tadg]Teve el = et 3 {9) $17.33 x 15% (.15) = $2.60 (City of Yonkers tax to be withheld)
a4 , [0 T
3] sa ) o0 | 1083y g .o 14 EXAMPLE 2: {Montnty payroln
5| 583 75 T18.33 M w on Monthiy gross pay of $1,100, married with 1 exemption tlaimed
[ 75;: 91‘? ;a'aa " ?:: W ;’:g {1} Deduction allowance (from Table A, page 14) = $250.00
: {2) $75.00 (from Table B, page 14) x 1 = $75.00
i 917 11,167 40.00 " 8% o 917 =
i 8 1167 |anaup } e0loof 9% v 1,167 i3) [3250:50 + SSO0Len 2=i00
l : : : (4] $1,100 — $325 = §775

(5) Line & of Table 1D is applicable {$775 Is between 8750 and $917)
(6) $775 — $750 = $25

(7) $25 x 7% (.07) = $1.75

(8) $1.75 + $28.33 = §30.08 (New York State tax to be withheld)

(9) $30.08 x 15% (.15} = $4.51 (Clty of Yonkers tax to be withheld)
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